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Homework 2
1.
a. How many small intervals are there between 0 and 1kg?  _______

b. What mass does each small interval represent? _______

c. The pointers show the mass of 5 tins, P, Q, R, S and T.
    In the space below write the mass of each tin.


P   ______kg
Q ______kg
R ______kg

S   ______ kg
T _______kg

d. How much heavier is tin S than tin P?    _______kg

e. How much heavier is tin Q than tin P?    _______kg
f. What is the total mass of all the tins?  _______kg
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2.  The shoe sizes of 8 pupils in Class 1B are 3, 4, 5, 6, 4, 6, 7, and 5.


a. Calculate the average shoe size.

Answer ________

b. How many pupils are above the average size?

Answer ________

c. How many pupils are below the average shoe size? __________

d. Did any pupil have the average shoe size?   _________
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3.  Complete the table below
	Measuring instrument
	Used to measure
	Unit

	Metre rule
	
	

	Measuring cylinder
	
	

	Thermometer
	
	

	Stopwatch
	
	

	Balance
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